In[16]:=

g = Interpolation[Transpose[{time, cumdep}]];
Show [
ListPlot[cumdep, PlotStyle -> Directive[Red, PointSize[lLarge]]l],
Plot[g[x], {x, 1, 60}
, PlotStyle -» Thick, ImageSize -» Large]]
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o=0.08; H = 1.2;
time = Range[60] ; meantime = ConstantArray[0, 100007 ;
cumdep = ConstantArray[0, 60]; tenpercen = ConstantArray[0, 10000] ; ngood = 0;
Do[
edep = RandomReal [LandauDistribution[u, o], 60];
cumdep[[1]] = edep[[1]];
Do[cumdep[[i]] = cumdep[[i-1]] +edep[[i]], {i, 2, 60}];
tenpercen[[ievent]] = 6.8;
If[cumdep[[1]] < 0.1 %cumdep[[60]], , Goto[skip]];
ngood ++;
g = Interpolation[Transpose[{time, cumdep}]1];
tenpercen[[ievent]] =
Flatten[FindRoot[g[x] -0.1 % cumdep[[60]], {X, 1, 60}, Method -» "Brent'] /.
Rule -» List][[2]];
Label [skip]
, {ievent, 10000}7];



2 constantfractionmodel.nb

3= nhgood
Histogram[tenpercen, {0, 20, .1}]
mten = Mean [tenpercen]
rmsten = RootMeanSquare [tenpercen - mten]

outez)= 9923
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ouzs= 6. 94928

ouze)= 3. 53591



